A person has 14 close friends.

(a) How many ways can she invite 8 of her 14 close friends to a holiday get-together.  Explain. 
C(14,8) = 14! = 14*13*12*11*10*9*8*7 = 3003


    8!6!    8*7*6*5*4*3*2*1

(b) Suppose that out of her 14 friends 8 are women and 6 are men.

(i)        How many groups of 8 people can she invite that contain 5   women and 3 men?  Explain.

C(8,5) C(8,3) = Is this how you start it out?
(ii) How many groups of  8 people can she invite that contain at least 1 man?  Explain.
C(8,1)
(iii) How many groups of 8 people can be formed that contain at most 5 women?  Explain.
C(8,5)

